
7 FT. SWOOSH SLIDE

19717-100 Rev B (05-20)
© Copyright 2005, Creative Playthings, printed in U.S.A.

1	 15140-400	 7 Ft. Swoosh Slide, Green
50398-700	 Swoosh Slide Skybox Adapter Pack:

1	 40658-102	 Slide Mount
1	 50398-701	 Hardware Bag, 7 Ft. Swoosh Slide Adapter:

3	 17001-104	 Weld Nut, 1/4"

4	 17020-113	 Phillips Screw, #10 x 2-1/2"

3	 17119-1209	 Truss Head Bolt, 1/4 x 3"

AJ952-400
ASSEMBLY MANUAL 7 FT. SWOOSH SLIDE

PARTS

Review the original play set assembly manual and owners manual before assembly.

All hardware on this 
set is specially coated 

for corrosion resis-
tance.  If non-Creative 
Playthings hardware 
is used, it MUST be 

galvanized or stainless 
steel.

Step 1 - Remove Wall Slats
Determine the desired position of the Swoosh Slide. It is im-
portant the exit of the slide is at least 6 feet from any obstruc-
tion and does not conflict with any other play activity. See the 
original play set assembly manual for the appropriate ground 
cover. Remove the wall slats for the desired opening. Leave 
an opening that is wide enough to fit the Slide Mount.

Step 2 - Attach Slide Mount and Slide
Place the Slide Mount on the Skybox platform, snug against 
the Skybox Platform Side, in the opening created. Rest the 
top of the Slide on the Slide Mount with the Slide aligned 
squarely to the gym. Before drilling holes check to see that 
there are no obstructions under the platform. Adjust the posi-
tion accordingly.
Once placement is determined, fasten the Slide mount to 
the platform using four #10 x 2-1/2" Screws. Drill three 5/16" 
diameter holes through the Slide, Slide Mount and platform 
at the indentions in the top of the Slide. Fasten the assembly 
to the platform using the Truss Head Bolts and Weld Nuts 
provided.


